RIEZEEH

5 42 R2F1x F+BEKR (BEXER H-EM BEWEIS

ORERMO
TERS BEREIE
Eiifis X BERAR 1

FET g - THEHT | —RXELERY (1) —1

N X
‘i [=]
1L

RESEER] FALSMEORETHEE
HIEBEQRBYDRHO—EHTHY . 3
BROERRT 55D TIEEL,

HTEXHEIS HWEZITHEL
SRR EERAIIREE

RIGRRWESR FFELAL




RatPERE  (AR01)

TH4 R2EHET HHOLH EEH A -8l BRaiE T %?%2 %ﬁﬁi%@%
TEHX Sy« T - FlR1 - HE5 Hirs HAL B i ot e - BB i 2
ERRETLE
AT B L = :
fibffeAk T = 1
A AT - = 15
TR BRI 2y )) - b (IR f - $RAD) WS &V Zb L = 1 3E
ALY ARAER 207 ) -1k (BERR) . : 4
Pk hEgR L = :
PR BUS L E R VPE . 1 245
G & :
REE L : :
A B : : 5%
! AH 5

?

5

i




it

atPaRE  (01)

TE4 |(R2EFL FHABRKR GEER) 6 -8 BRHE1TE FEX TH I HERR - fETE
THEXSy e TEH
EX Sy - TFE - FER - AWB Hirg AL W& B x| g - SFUER s
R B 65
B
ANH 15
[ERZ A%
= 1
IR
= 1
s (FE L)
= 1
W=
= 1
Bl
= 1
TS5
= 1
— R
= 1
T MRS
= 1
TH B AR K OVt 7 T 2 Bl 48
= 1
TG
= 1




. — HAMf {5 FH 4 H 2020. 09
— Y Y NER=E SHGEIE 202009
= IS TR AR 1. 000-00000 0.0 0
AR LEE A 8 5
N 1E
LHR - HRE HAAT B HAAf &HE B - KA e
Ul 1k K A 20 A
Syl
& rr 2
il 1k /K A 40 F
72 AR
& rr 1
At
5 = BRAGASE H AF 2020. 09
— Y Y NER=E SHGEE ] [2020.09
= PSR EEALRER 1. 000-00000 0.0 0
BEAE U T B VP
N 25
ZHR - K HAAT g HAAf &HE B - KA e
B VR 7 P IR 6mm
m 0.3
ﬁbk%r’%?lﬁ Vp%ﬁ:
m 1.5
M 105
= 1
At
-3 - TR




N NN 2 A 4E A 2020. 09
1 /Jb\ﬁ’mﬁﬁé b FH AF A 2020. 09
555 R R AR 1. 000-00000 0.0 0
Wooe £ 27 WU E A TR A, g AR AR
A T AERR 2B Y, e E A RS HANT m HATHE ] EAAR
BoFt A Y
S - Bk E s HANT B B &HE e
2 R A A R i S, Y E, QAR Y, I BT
m
a5
Hiff M./ m
N N4 HAffsE A A A 2020. 09
1 /Jb\ﬁ’ﬁﬁég A A A 2020. 09
TR 1.000-00000 0.0 0
Wooom £ 27 WU E A TR A AE, g AR
e T AERR 2B Y, e E A RS HANT m BT R ] EAAR
BloFt B A Y
S - B i HANT B B &HE e
2 R A A R i L S, Y E, QAR Y, I H o 8E
m
a5
Hiff M./ m
-4 - TR




N AW A 4E A 2020. 09
1 /k E‘/ﬁﬁ% A i FHAF A 2020. 09
— 555 R R AR 1. 000-00000 0.0 0
W3 R AR R 20— (I, - 8775) s &
Dbl HAAL m3 HATHE ] EAAR
S - Bk E s HANT B EAA S A e
AL
R Co (HEf% - BB W& L 0 Zb L, 1
WRFEIA, L, 5. 5kmPA T, 2 TOEH
m3 1
i
A M ,/m3
N N4 HAffsE A A A 2020. 09
1 /ﬁ( @’ﬁﬁi% b A 2020. 09
— TR 1.000-00000 0.0 0
HAAT m3 BT R ] EAAR
— S - B i HANT B EAA &HE e
W53 E (m3) H 95
m3 1
i
A M ,/m3




1 R BT R

HAL

~~~~~

HAL

HLAT

AH

1 R BT R

HAL

~~~~~

HAL

HLAT

AH

BAAT 5 A A A 2020. 09
A A A 2020. 09
555 R R AR 1. 000-00000 0.0 0
1 EAAR
&HE e
H 115
M/ ANH
HAffsE A A A 2020. 09
A A A 2020. 09
TR 1.000-00000 0.0 0
1 EAAR
&HE e
H 12%
M/ ANH




3 Fff 5 4 .
2 VR EAM = ERRREA | 20200

: - I IR 1.000-00000 0.0 0
w7 |TERAARRE LR E T MfE, M@, 2HERAR Y, I, A
HAL m A KR ] HLAT
AR - Bt SR B i i A4 e
T Al e
R T LT a4 2 b i E-20mm
m 1
T2 T e
2HLf A
m 1
M (£20)
2V 1
&t
HLAH M,/m




3 Fff 5 4 .
2 VR EAM = ERRREA | 20200

: - I IR 1.000-00000 0.0 0
g g |TERAMARREFLEE R E T MfE, M@, 2HERAR Y, I, A
HAL m A KR ] HLAT
AR - Bt SR B i i A4 e
T Al e
R T L a4 2 b i E-40mm
m 1
T2 T e
2HLf A
m 1
M (£20)
2V 1
&t
HLAH M,/m




N NN 2 A 4E A 2020. 09
2 /ﬁ( @’ﬁﬁi% b FH AF A 2020. 09
TSRS 1. 000-00000 0.0 0
= mﬁ?\% (m?))
noE B 3 R oo | HEM
S - Bk E s HANT & B S A T
L%y
ar U — bk (EER)
m3 100
At
A M ,/m3




N NN 2 BAAT 5 A A A 2020. 09
2 /Jb\ﬁ’mﬁgé b FH AF A 2020. 09
Bk

e 77 B AR B 1. 000-00000 0.0 0
E‘ 10 Z ‘ ) NV NN N
7 BANL 2V BNTHE ) B
A Bk St AL Bkt A G e
Pk
R VIR b Vs — AR (VIP)
m 1.5
PL T=6cn
kg 7.3
BN MI10%160
vk 1
BN M12%30
b 4
HLEWETT v B —MI12
v b 4

o>
p=i1ily
+




v, W AT 4 A 2020. 09
2 /ﬁ( @’ﬁﬁi% b FH AF A 2020. 09
— IR 1..000-00000 0.0 0
W |ETEE A
LA AH HEA ] Hifif
Ty an e Aft i o AT e %
AR5 33 E M
A
REHER (£20)
& 1
ait
LAl EEPNE
v, W) 4 HLM A A A 2020. 09
2 /ﬁ( @’ﬁﬁi% b A 2020. 09
S — 5 5 i EE AR K 1.000-00000 0.0 0
B pp |REFEEEB
LA AH HEA ] Hifif
T AT B G [ W i o —
PG EEES S =
A
REHER (£20)
e
ait
HLAf M/ A\H
TR IR




BEITMAEERT Y 2 b (BEfR)

TE4 R2FHL FHARHK GEER A - B0 BR#He1E
Hffi=z— K & W O BANL Eogy &HE i 22
M000301005 B 7 V) hre=h 77 4=t W] 10tF5% A B 0. 058 1, 185
ERtEE 1,185
(e

,12,



N
[

i *®

THXS) - THE

A - A0 - RS

HAL

il

fii

fRsAiE

s AR S

e A T

e 2 i BEURE T

(AL CR+SS400

R T LY 3 A > b-40 [R5 8

11.7

FEEL =T LY 3 A > b-20 RS

9.0

el Ik KA CR+SS400

i s L A 38 ~4.0 FH [ 55 it

i s L 7 A 38 ~20 FH [ 55 it

— Lkt

D=2

#Brbar 7Y —k

B 7 ) — k

a7 ) — b7 v —(SD345)

SD345 D16

410

fRsAE

s i AR S

e 2 S T

XA AL PR

a7 U — bk ()

m3

B ba s ) — R EREL




LX)« LFE TR - HEBI - HiE HAfTL = ]
ERAHE
& LA
PEKEEE R E T

HEKE
VP 125 (L=1.50m) P 1

T HUE
PL t=6mm kg 7.3 SS400 HifH A > ¥
BN M10x160 v b 1 SS400 Hign A > ¥
BN M12x30 vk 4 SS400 HEEH A~ F
HEMELTT T — MI2 + vk 4

HEAK B B
HEKE AL 1 VP 125

Btk
™ A A R 6mm 3 L m 0.3




T fis i T

TR - FHB - S ke i B =\ HAL o/ Ff & &t
[ fei e 2 1 il 1 1]
it 4 & IO T
it 25
CR+SS400 Ao AR A5 A
KEMB LY 3 4 > 40 A% 5 11.661 - m 11. 661
FHHEL T Y 5 4 > b 200 [R5 5 - 8.958 m 8. 958
S 11 AR
CR+SS400 Ao AR A5 A
S b KA & —-40 H [R) 55 i 1 - & AT 1.0
S b KA 20 H [R) 55 i - 2 & AT 2.0
M () 3 R)
43m X 25mm L=2074mm A2 0. 043X 0. 025 X 2. 074 X 1000 0 2.23
L=1866mm 5 MR 0. 043 <0. 025 X 1. 866 X 1000 0 2.01
aEk 0 4.24
BfIbar sz y—bh
fEfE a7 ) — b A2 EEI 11, 561 X 0. 350 X (0. 090+0. 090) /2+11. 561 X 0. 500 X (0. 090+0. 090) /2 m3 0. 884
A5 I 8. 858 X0, 350 X (0. 090+0. 090) /2+8. 858 X 0. 500 X (0. 090+0. 090) /2 m3 0.678
aEk m3 1. 562
27 ) — h7 v —(SD345)
SD345 D16 AL 230 ZN 230
FEEl 180 ZN 180
aEk N 410
fifE LS S T
L ER
a7 U — bk (8kF5) #BiTbar 7 —hrEFEL m3 1. 562




T w1
TR - MBI - BIES Rz 7 B = ==X A A & @
[1#Em4 Y]
HEAKEE & 3 1E T HNLEE
BEKE
VP 125 (L=1.50m) I 1
TI358E & (mm) JE & (mm) £ & (mm) (kg/m3) %5
PL  t=6mm $S400, TgAA v ¥ 80 X 6 X 340 X 7850 X 2 kg 2.562
80 X 6 X 200 X 7850 X 2 I 1. 507
80 X 4.5 X 568 X 7850 X 2 U 3.210
kg 7.3
BN  M10x160  ssao0. mighs »% vk 1
BN  M12x30 $S400, A A v ¥ vk 4
HLTT > A-M12 v b 4
HEKE X E
HEKE iz 1
Bl At
9~ A AR 6mm L 0. 080m X 2{& Fif X 23L& m 0.32




RREH—ER

TIE4 R2ELT E+BEER(EER H-EH BEEHEIS
22 Bis B Eiff e
HHE KEMET LOaA 2k fBfEE—20mm m 55,200
HHE KEMHET LOaA 2k fBfEE—40mm m 72,200
HHE i &0 Lk 7K FA—20 8 0 19,000
HHE i &0 Lk 7K FA—40 8 0 23,000
nog AV —hak (i) m3 1,150 |L=5.5km LT
kL BN M10%* 160 bk 26
kL BN M12%30 bk 50
kL e T 7 T —M12 ok 86




